MODELS REV DATE DESCRIPYION
[ STANDARD INSULATED i DEP?*?}";@W%{E{%&J“&K@% 03] 02/24/08 UPDATED JAMB BRACKET NOTE
EIOPAT | G45, GS4, GAL, CL4, GDA4S, GDAL, GR4S, GRALIGASY, GS4V, G4LY, GL4V, GDASV, GD4LY, GR4SV, GRALV g
JIDEAL E4S, E4L, FD4S, ED4L E43V, LALY, ED4DY, ED4LY BACKER (INSULATED MODELS OMY} \  conrion A A (SIDE_VIEW 04| 04/30/07 ADDED NEW MODEL NUMBERS
[HOLMES 554, SL4, AR4S, AR4L SS4V, SLAV, AR4SY, AR4LV 05 07/26/07 ADDED UPDATED GLAZING OPTION
- 2" THICK
EQUIYALENT SECTION GONSTRUCTION:
‘iOR ANY OF THE MODELS LISTED THIS DOOR MEETS OR EXGEFDS THE DESIGN DOOR HEIGHT SE%T?ENS s;tagis I " _ 06 12/05/07 ADDED LONG WINDOW LITE CPTION
ON THS DRAWING, THE FOLLOWING W—LEVEL DOORS USE EQUWALENT | (0% o THE WiND SPEEDS LISTED BELOW 3" TALL U-BAR CE7-10
SECTIONS (UP 7O THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING), 60" 3 4 24 GA. MIN. STEEL SKIN 50 GA. GALV. STEEL| 07| 01/31/12 REVISED WIND SPEFED TABLE FOR ASCE7-10.
Ay R e e EVELS MAY SE SHOWN ON THE OPTIONAL SHIFPING | N ASCE7) FOR THE FOLLOWING Y B 5 BAKED-ON PRIMER, AND A - l 08] 08/16/12 REVISED_FCR TDI
CABEL oN THE END STLE. B Nl o . o BAKED-ON POLYESTER TOP 1776 == [00] 06/05/13 | REMOVED AGRYLIC GUAZING. REVISED MAX GLAZE SIZE.
3) IMPORTANCE FACTOR OF 1.0, 4) ANY 1 T 1067 |6 3 COAT APPLIED TO BOTH SIDES T
ROOF SLOPE, AND 5) 50% SAFETY” FACTOR. R 7 OF STEEL SKIN. HORIZONTAL TRACK SUPPORT BY
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEEYS THE . . 5 7 i ‘ 12 GA, GALV. STEEL TOP DOOR INSTALLER (TQ SUIT)
ggl?ﬂ%gégﬁgﬁwisﬁﬂgcog gé-tEE &$Ré%%seﬂ9@m€£§o%€ WIND SPEED (MPH)| 100 [ 110 | 110| 120 ¢ M=o e 5 8 ROLLER BﬁACKETéDE.:«gHS TRACKS ABOVE 8' IN HEIGHT
MPACT RESISTANT REQUIREMENT FOR WINDEORNE DEGRIS EXPOSURE LEVEL |B or C} B 1 Cl B |45 y01607] @ 2 Y e i SUEET AR e ; - : -
REGIONS (REF. CHAPTER16 FBC/IBC) MEAN ROOF HEIGHT| 30° | 30'§ 20" 30 MAX SECTION HEIGHT: 24* T SCREWS. "13 GA. GALV. STEEL FLAG BRACKET
14:6/8" SHEET METAL SCREWS |/ SHIP LAP JOINTS. EACH FASTENED TO WQOD JAMB WITH
DOOR AVAILABLE IN SHORT o$ LONG (3) 5/16"x1-5/B" LAG SCREWS.
MIN. (1) INTERMEDIATE STILE EMBOSS. DOOR MAY CONSIST OF A 14 GA GALY. STEEL NQTE: 3" TRACK AVALABLE
ATTACHED W/ T0G-L—Loc (top | MIXTURE OF LONG AND SHORT PANEL ] END_ HINGE, EACH i AS_NEEDED.
& BOT) AND URETHANE ADHESWVE : ° T STLES W/t §idrs /e 5 2
SHORT PANEL A TAPPING SCREWS. S '{‘/4‘5,';3%5%‘5?; &l MAX
LONG PANEL OFTION OPTIGN e 14 GA. END HINGES 18 GA, NIERMEDIATE, HINGE TAPPING  SCREWS. .
o AR - VEW "5 « I 27 GALY. STEEL TRACK, |
T—" _— - = g H / TRACK THICKNESS: .G60" MIN.
» " =
£ | gggw‘?gﬁc"f@? OW LIES DSB GLASS AVNLABLE. (SEE ﬁ-gﬂsliLA’%rnggg' ﬁ%v%wg'* o 1 i ﬁ;) TYp, 2-1 P{z;;& % K%rp“s GAiIEK. SS'EEELU';R#%K 1%3;:\&@.
- » 1/4"%3/4" SELF TAPPING 5} TRAC P .
A | Ps—— | (MAX CUT-OUT NOT TO EXCEED 18~5/8" WIDE X 15-1/16" TALL) oA L aE e LOGATION. E &) TRACK BRACKETS PER SIDE £UP 0 12° H|G|~|g.
I e, 2 [ « P
TR = = 4 DISTANCE BETWEEN FLAG AND TOP TRACK BRACKET
2 .. P NOT TO EXCEED 30" 0.C.
3 o N oATENTED ToGLoLoC SYSTEM LTE FASTENER, QUANTIY TASLE e T
! - WINDOW UTE OPTION | # OF SCREWS = weseHT| W
A & DE— (TOP, BOTTOM & CENTER). SHORT FECT 12 13 GA._GALV, STEEL BOTTOM BRACKET. I TS
: B LT, 10/ 5 o
] LOCK POSITION (BOTH SIDES) DOUBLE ARGCH 14 . e o o 5
u B =" TWO POINT LOCKING e [ eie RN
¢ i - o SRS S s
g f SECTIONS WITH ONE U~BAR POSTION AT LONG RECT 18 o e T
S 5 TOP OF SECTION AS SHOWN BVER HINGES. 6 | 1420
o SECTIONS WITH Twl U~-BARS: POSITION OGNE FRONT FRAME WITH U.V. HORIZONTAL TRACK SUPPORT BY 307 ;i::
AT TOP AND ONE AT BOTTOM OF SECTION COATING ON OUTSIDE SURFACE *  geerion g—¢ DOOR INSTALLER (TO SUIT) e
] ABOVE HINGE OR ABOVE BOTT{M BRACKET 467 ] 166" |
X AS SHOWN, 3 TRACKS_UP TQ B' I HEIGHT o e
THE FIRST (BOTTOM-MUST) 247 SECTION 0 G e i7er
OPTIONAL OUTSIDE KEYED LOCK POSITION R L S T e TiE. AR, \ NOTE; FOR DOGRS OVER
SECTIONS EACH RECEIVE ONE U~BAR. DSE GLAZING NOTE: |
MAX. DOOR WIDTH $°0° LITE RETAINER 13 GA. GALV. STEEL FLAG BRACKET. 12'~0" FilGH, TRACK
. EACH FASTENED TO WOOD JAMB_WITH CONFIGURATION SHALL NOT
N THE CASE OF GYPSUM WALLBOARD LOGCATED AT OR NEAR THE DOCR OPENING STOP MOULDING BY DOOR INSTALLER (O SUM) #8x1—1/4" PAN HEAD SCREW (3) 5/18"1~5/8" WOOD LAG SCREW. EXCEED MAXIMUM S G

LOCATION THERE ARE TWO ACCEFTABLE ALTERNATIVES:

1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR QOPENING AND 2X6 SOUTHERN
YELLOW PINE WOOD JAMBS MOUNTED DIRECTEY TO THE SUPPORTING STRUCTURE TO
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED
DIRECTLY TO THE SUFPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF
SCREW HOLE MUST BE AT LEAST %' FROM BOTH £OGES FOR A 5/16° LAG SCREW.

2)IF THE WALLBOARD 15 NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD

FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD SUCK OVER SHALL BE
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT
FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF
A SUFFICIENT #CREASED LENGTH TG ACCOUNT FOR THE THICKNESS OF THE

2x6 YELLOW PINE SAMB

20 GA. MIN. GALV, STEEL END STRE

12 GA GALY. STEEL TRACK
BRACKETS FASTENED 70 WOOD JAMB

20 GA, GALV. STEEL INTER. STHE

WITH ONE 5/167x1-5/8" LAG SCREW
PER TRACK BRACKET.

i ﬁ?18 GhA. GALV. STEEL INTER.
~ FASTENED IO INTER. STILES

#14x5/8" SHEET METAL SCR

SEf LITE FASTENER QUANTITY
TABLE FOR SCHEW DETAILS

HNGE, QUISIDE KEYED LOCK
%f) R T T

SHAP LATCH ENGAGES
ONTO VERTICAL TRACK.

f—— OPENING HEIGHT = DOOR HEIGHT

I.i

TRACK THICKNESS:

:1:1 NCTE: TRACK CONFIGURATION

N
WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL 2" GALY. STEEL TRACK FASTENED TG 14 GA. GALV. STEEL ROLLER HINGE Sﬁc"‘as«s’ﬁ’épg Lé?;rcgoga.
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. 12 GA. GALV. STEEL TRACK BRACKETS, FﬁTg}%tg g?{gagbéc}“gksss c%e?@‘sw 4) INTER. STILE

S TRACK ATTACHED TG EACH BRACKET o
j ! 1/2* FROM EDGE WITH ONE 1/4™5/8" BOLT & NUT OR (4# 1/4%3/4" SELF TAPPING SCREWS PER END HINGE.
TWO 1/4" DIA. RIVETS. 2" 10 BALL SHORT STEM STEEL ROLLER WITH QUTSIDE HKP%EL%% T
NQIE: THE DESIGN OF THE SUPPORTING STEEL GR NYLON TRE ENEE
™~ STRUGTURAL ELEMENTS SHALL BE THE BN sm
X ; RESPONSIBLITY OF THE PROFESSIONAL OF SME
RECORD FOR THE BUILDING OR STRUCTURE INSIDE HANOLE
_ AND N ACCORDANCE WITH CURRENT BUILDING PNTER.
CODES FOR THE {OADS LISTED ON THIS o DRI ARE SIGNED 1N BUE STILE
DRAWING. INK W A RASED SEAL (EMEOSE). QUTSIDE
N LOOK BAR END SUDE BOLY
PREPARATION OF JAMBS BY OTHERS, HANDLE ENGAGES IN
ko STILE LOCK ENGAGES
syl {NTO VERTICAL
TRACK. ONE
R HMENT FRAM: : OF DOOR LOCK oN

3/8%3" LAG SCREWS ON 24" CENTERS. 1—1/8" 0.0, WASHER REQUIRED, {AG SCREWS EACH SIDE

MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. OF DOOR.

HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

INSIDE SUIDE 801

AMB ATTAL - b N}

VERTICAL JAMB CHMENT (C-00 BiOCK OR 2,000 PS5 . CONCRETE COLUMNY:
3/8"x3" SLEEVE ANCHOR BOLTS ON 24" CENTERS (2,000 PSI MiN. CONCRETE).
WASRHERS INCLUDED WiTi SLEEVE ANCHORS.

O

1/4"%3" TAPCON SCREWS ON 24" CENTERS (2,000 PS| MIN. CONCRETE) OR 14"
CENTERS (C-90 SLOCK}, 1" 0.D. WASHERS REQUIRED WITH TAPCONS.

ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL, JAMBS DO NOT TRANSFER LOAD.

QTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN
PROFESSIONAL MAY ALSC BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR
JAMB CONFIGURATIONS.

DESIGN ENGINEER: MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495,

NC P.E. #23832,

TEXAS P.E. #91513

LOCK, OPHON

2" GALY. STEEL TRACK,

060"

:%\ TYP, 2-1/2"x12 GA. GALV.

STEEL TRACK BRACKET.
(4) TRACK BRACKETS PER SIDE.

PROVIDED. CONSULT FACTGRY
FOR MORE DETAIL iF RQD.

LHR TOP BRACKET
DOUBLE HORIZONTAL
TRACK

DOUBLE TRACK
LOW HEADROOM OPTION

DOOR
HEIGHT | "L
Tl
70" | 76"
76" 82
e T

ABQVE THE DQOR OPENING

DOES NOT AFFECT THE WIND
LOAD RATING OF THIS DOOR.

DESIGN LOADS: +25.0 P.SF. & —32.0 PS.F.
TEST LOADS: +37.5 PS.F. & -48.0 PSF.

iapay

uilding Products
Company

8585 DUKE BLVD.
MASON, OH 45040
(513) 770-4800

MANGE AC TURING PREDUCY CADE

CLOPAY BUILDING PRODUCTS COMPANY | MPC: PAN—2F441

WINDLOAD RATING MAX. DOOR SIZE:

Clopay Carporation All Rights Reserved.

9'W x 16'H
HE 5/31/05  [wEscrern - G4S, GAGV, GAL, GALY;
DRAVN BY o 9'W +25/-32
DRAWING NUMBER
CHECKED BY: B 103486






